Segment 3


	To get this kind of graph an object must be constantly decelerating (AKA accelerating in negative direction AKA slwoing down) and then change directon and then start accelerating (in negative diretion).

AN example of this whould be a car thet starts to drive up a hill, as the car drives it slows down at a constant rate and then the car stops and starts accelerating down the hill at a constant rate moving down faster and faster as time went on.

	To make segment 3, you must start out walking forward briskly an immediatly begin slowing down at a constant rate. You continue doing this for one second, at which time you will instantaneously be at a halt. At that time, you immediatly begin accelerating at a constant rate backwards. You do this for three fourths of a second. Segment three ends then.

	begin at a velocity of 2 cm/m in the positive direction and accelerate constantly in the negative direction for about 1.5 m until velocity was about 1.5 cm/m in the negative direction

	IF you really wanted to figure out how to get the third segment of this graph, you would first notice that the graph is not 3D and utilizes only the x and y axes, the x-axis, time, being in minutes and the y-axis, velocity, being in centimeters.To get the third segmment,if you really want to, you can start at t=3 min 2 cm/min and decelerate at a rate of -2 cm/min until reaching the x-axis (zero cm/min), at which point you begin to accelerate at the same rate of 2 cm/min in the opposite direction until about 4.5 min.


